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Q.1 ‘Mary Kom'’ is related to
‘Boxing’ in the same way as '‘PT
Usha’ is related to ’

ﬁ‘ﬁah‘ﬂ?' HFATSI | I TR FATET
A. Running
B. Shooting
C.
Weightlifting

D. Wrestling
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Q.2 Which letter-cluster from the options
will replace the question mark (?) to
complete the given series?

< T FE@AT il LT FLA F o0 [Fheqi H
I HT AA-THg TF = (?) &1 aiaeaha

HJKL, GHHH, FFED, ?
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\— Q.3 Statements: No soap is a dessert./ F12
qTeA THaTE 78! &.
All desserts are cups./ THT
o -
Conclusions: I. No dessert is a soap./ g
EEEKIEG RIS
ll. Some cups are desserts./

T T Horeat € A. Both conclusions | and
l1l. Some desser ?(ﬁow

soaps./Fe s at AT .
V. All cups arBe (%ﬁg\ﬁc npgion |

C. Onlv conclusion |l

F7 Horear 2



=
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Q.4 Which two signs should be
interchanged to make the given
equation correct?

T T FHHT HT Fel T A
fohel &7 T=egl ol 39T | daar

36 -6 + 6 x0+30=0
A. —and +
B. + and x
C.+and x

D.—and +
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\

- Seven persons, A, B, C, D, E, F, G, are sitting
around a circular table facing towards the centre.
q1q =41=<F, A, B, C, D, E, F, G, T TATHIL U F
T A g i 3 T Fleh 96 8
1) C is the neighbour of Aand G./ C, A 3T C{ ‘
2) B is to the immediate right of A./ B, A & 3= a0
AT . .
. diate
3) F is second to the left of D./ F,'AD wgm%%

AT T2 2

. , P Qtothe
Q.5 What is G’s position?/ G =T F&ﬁﬁ?ﬁf@r =
C. Between C and D
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Q.6 Select the option that is related to
the third letter-cluster in the same
way as the second letter-cluster is
related to the first Ietter—cr!uster

39 T9hed &7 I e ST 1< 3T

T o IHT T HAT9T g SIH TET
AAL-THE TBA T H‘iﬁﬁ'ﬂ@i%

~EMININE : ENIMINEF
IOMEWORK : ?7A. MOHOWEK
R
B. RKWOMEH
O

[ ) \N AL \V\N\NJL N
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Q.7 Select the option that is related to the fifth
number in the same way as the second number
Is related to the first number and the fourth
number is related to the third number.

39 T9heq &7 9 L ST TAE| G AT H I T
HeTad & ST TH 9T Ugol 9 EIEEICEE RS

\g\

8:514::3:29::7:7 R e
A. 325
B. 355
C. 335
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Q.8 Select the option that is related to the fifth
letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and
the fourth letter-cluster is related to the third letter-
Cluster.

%Sﬁ‘{%ﬁra‘r AT H@g?ﬁ'ﬂ%aw Hﬂg@'

SON : TPO :: BRO : CSP :: BIL : ?A. CHM
B. CJN

C. CJM
D. DJM
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Q.9 In a certain code language, 'GEAR' is coded as
'"16', '"ANT" Is coded as '9' and 'HEART" is coded as
'25'. How will ' TEAR' be coded in that Ianguage?

U (AT FlS 9197 |, GEAR 1 '16' F T | Flled
a7 STar g, 'ANT' &7 '9' & F =T frohusq ﬁTZIT\_Tl'I_cIT%
A 'HEART' &1 '25' =T T wifteq fonar
ATIT H§ 'TEAR' &7 &% FITesd haT STUIT”
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Q.10 Which number will replace the
question mark (?) in the following series?
Meferterd J@dr | id |9 9 a1 99 =2 (?)
T TITH 1?2

89, 90, 82,
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Q.11Three different positions of the same
dice are shown. Find the number on the
face opposite to the one having 1

Q?F@Wlﬁ?ﬁdl"l HAT- 3T f@ﬂﬁﬂTﬁUﬁi
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Q.12 In a code language, ‘CERTAIN’ is
written as ‘XVIGZRM’. How will’ CLIMATE’ be

written as in that language”?
T e ATIT |, 'CERTAIN' &1 'XVIGZRM' & &9

# ForaT STt 21 37 T 7 CLIMATE &7
G'TQTH-? 3 ¥ i

(A)XORNZG
\Y
(B)XORNZV
G
C
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Q.13 Arrange the following words in a
logical and meaningful order.

GREIRICEEREAEIUE EE G IPEE T K]

A. ugg’f'ruorr)ﬁ

B. Century /Ql‘cl?ﬁ
C. Year /a¥
D. Millennium

ERACIES] (A)2,

2
E. Decade/3eT 3,
5
2
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Q.14 Three of the following four numbers are
alike in a certain way and one is different.
Pick the number that is different from the

rest.
Meieriead = ® 9 qi9 9910 U [Aisg qiF
9T ¢ 3 Uah 19 g EE -B
(A)8311
)
(B)5421
)

C)4321
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Q.15 If ‘FORTUNE’ is coded as ‘6521347
and ‘PREY’ is coded as ‘8279’ then how will
‘NEPTUNE’ be coded as”?

Tte ‘FORTUNE' &7 '6521347' 3T 'PREY" =T
'8279' & 9 H FIled [ohaT ATAT &, Al
'NEPTUNE' &7 T TaRTT &S d AT

(A)47813
47

(B)47813
42

[ )
i%he
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Q.16 A cube is made by folding the given sheet. In
the cube so formed, which letter will be on the face
opposﬂe to the one showing 'P’?

<7 T2 9fTe AT ATSHT TH AT TATAT FTAT 8| TH THIL 1

helh I¥ ﬁv( et

(AL

(B)H
(C)A
(D)K
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Q.17 If ‘P’ means ‘x’, ‘Q’ means ‘+’, ‘R’ means ‘=’ and
'S’ means ‘-, then

TP R A X, QAT A+
HTAY - g, Al

S56 R8Q13S42R21P5=7
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Q.18 How many triangles are there in the
given figure ?
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Q.19 Select the missing number from the
responses.
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Q.20 Mayank remembers that the examination is
after 18 December but before 21st December,
while Suraj remembers that examination is before
24t December but after

19t December .On which date of December is the
examination?

73 i T8 g foh LT 18 [RgaL & 918 g oAt 21

f&&m@rqgﬁ%,ddﬁh%i |d%’ﬁ?¢ﬁ&ﬂ24

GEaC § T8l g oI Tohe 1 TEAT
EGERE TR E ISR CIE N7

(A) 20
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THANK YOU




